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1. 000000000

(1.1) 00000000

(1.1.a) OO
e I''={n|nb0000 }
e (X=>Y)={f|f:X>Y }(X,Y:ODODOf0D)

(11b) D = (S,7) 0000 <= r:8-8S0000S00000~00000000
ID|:=S0000

(I.le) xe (T-S) 0 DOODO <« 0O7x)=x(t+1)VvteT.
x 0 (x(0),x(1),x(2),---) 00000

(1.1.d) Orbit(D):={x|x0 DOODO }
w(z) = (2, 7(x), 7%(x), -+, 7"(2), - -) € Orbit(D) (z € S)

(1.1e) 00O0DOO0DO00ODD) = (S, E:={ (z,7(z) [z €8}

(12) 000000000

(1.2.a) D0O0O00O0O0 Dyn
e JOOOOO
e I0UDOUOOODO ¢:D1—Dy <= |p|:51—S2  s.t. maolp| =|ploT.
e Dyn(D1,D3):={p:D1—Dy:0 }
e OO0 N =(T,e+1)0000Dyn(N,D) = Orbit(D),
O000Op : D1—Dy 0 Dyn(N, D1)—Dyn(N, D), 0000 ¢, : Orbit(D;)—Orbit(Ds) :
ooooooon
(1.2.b) functor F : Set—Set O functor F: Dyn—»Dyn 000000000
L. pow (D): {z,y,--- } = {72, 7y, }.
ii. Map(l, D) (7(¢)(i) := 7((i)))
iii. Map(D,I) (1(¢)(z) = ¢(7(2)))
0000 pow D,Map(D,{0,1}) 0000000
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(1.3) DynO CCCOODO

(1.3.2) O0OO0O(0,0),

(1.3b) 00001 := ({ * },id),
Dyn(1,D)={D0O0O0O0O }

(1.3.c) OO Dy X Dy := (81 X 82,71 X T2)
N x D O D O suspension

(1.3.d) 00O D1+ Dy :=(S111S2, 11 11 m2),
DO0mitial 000 O0D0D0O00O0O000O0O00O0OO00O0ODOOOOTreducibledd OO
0000000000 00000 (irreducible) 0000000

(1.3.e) D O00O0O[Dy,Ds) := (Dyn(N x Di,Ds),7) 7(p)(m,z) = p(m+1,x)
[D1,D;] 00000 D00 D, 000000 OOOOODODODO

(1.3.f) OO (adjunction) e x D - [D, e]
Y : Dy x Do—D3 000004 : D1—[Dog, D3] O (1) (m, z2) := (7", 20) 00O
O000000Dyn(D; x De, D3) ~ Dyn(D1,[De,Ds]) D000

(1.4) DynO topos OO O

(l4.2) DOOO Q

L. Q={neZ|n<0}UJ{-o0},m)(tq:0—0, n—n+l —oc0+— —00)
ii. T:1-Q (T(x):=0).

iii. monic ¢ : D1—D (ie. ¢(&)cSOO0D0000)00000
Xe : D=, xp(z) :=—min{t € T | 7'z € ¢(S1) } (minf := o)

00 QO0000DOO0DOO0DOO0ODO0ODO00O0D0000000000O000O00DO0ODOO0n
OO000000O0oO0ooOOo cccooooooooooooooon

iv. 0000 QUUDOD00D0000000000000Dyn(Q,Q) 00000000

(14b) 0000000
i. QU0000<X0ZO0O0OD0OD0O0O0U0O0O0O, —co00OOOOOOO
i Pyn(1,Q)={T,L},0000L(x) = —cc.
iii. mono< T, T>1-0xQ000000xQ03Q
(ar, B) = min(a, )
iv. mono <; =-Q x Q0 A,pr1: Q2 x Q—Q 0O equalizer 00000
<i={qpfla=xp8}

v. <1 00000 —:Q x Q=

0 fa=xp

‘Hﬁ:{ﬁ itas g

vi. 7 : Q= aa:=a——0c0o 00000

{—oo if o # —o0
0 —

0 fa=-0

oobooo ocooo
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EEERERN
{0 if o # —o0
Ty =

-0 if a=—o00.

(1.4.¢) 0OO00O:PD = (Sub(N x D),7) 0000
FE:={(n,d)| (n+1,d) €E}.

Sub(A x D) 5 Dyn(A,PD) 0 0000000000000 RCAxDO acAD
0000kg(a) €Sub(M x D) 000000 pulkback 0000000000

kr(a)~ ~N x D

RN (w(a) x D)~ ~w(a) x D.

0000a—b 000 kp(a)—ke() 00000000kg: A»PDOOO0O0O0O0O0O
oooo
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(15) 00000000

| [ oooog 000000 |
ooooo {0,—00 } Q={ze€Z|z<0}U{-}
O 0
g —00
oo p: X—{0,—c0} v : D—Q
D000 || := ¢ 1(0) 00000 || := e 1(0)
oo TE@ &L, o(x) =0
0o =l = lgl® =l ={z|w@)Nlpl=0}
TEp = alFy TEop = Vnr'(z) o
0000 ol = I9] ol = (@ [w@) Ny 20}
O |e] O basin
rE-p <= dnthz o
000 X = ol U |-l D 2 [p|U|-g|
0000 D= U|-¢l
0000 D = Basin(|e|) ] Basin(|p|)¢
ooo min{«, 5}
ooo max{c, 5}
00 o =] = e U ] o=yl ={z|w@)nfel Cl¥]}
rEp=yYpeVnel e Eo— e E Y]

(1) JO0O0O0O0 DOOUOOOODOOUOO0ODOOOUOOOODOOO

ooooo cooo



